LA SEQUENCE 1 2¢

1 SUD OUEST NORD EST
P RD962 1P Passe 2¢c Passe
c 954 2p

K AD3

t V6

2 SUD OUEST NORD EST
P DI0764 Ip Passe 2c Passe
c AVS 3c

K RD3

t V5

3 SUD OUEST NORD EST
P AVI965 1P Passe 2¢c Passe
c A106 2SA

K R7 puis 4c

t RD®6

4 SUD OUEST NORD EST
P AD1062 Ip Passe 2c Passe
c R94 2SA

Kk AR3 puis 41

t RS

5 SUD OUEST NORD EST
P AR743 lp Passe 2c Passe
c DVeé6 37

K 4 puis 4c_ou 4K

t ADIOS

6 SUD OUEST NORD EST
P AR753 Ip Passe 2c Passe
c V1085 4c

K D2

t D10

7 SUD OUEST NORD EST
P AVI65 Ip Passe 2c Passe
c RD&2 3c : il manque une carte clé

K 2

t DV3

8 SUD OUEST NORD EST
P AD753 1P Passe 2¢c Passe
c AVO6 4K

K 7

t A73




LA SEQUENCE 2c Q)
1 SUD OUEST NORD EST
P RD962 1p Passe 2¢c Passe
c AR73 37
K D5
t A6
2 SUD OUEST NORD EST
P AD7642 lp Passe 2¢ Passe
c RDI106 3c
K 5 puis Blackwood
t A4
3 SUD OUEST NORD EST
P ARDI1096 Ip Passe 2c Passe
c R1062 5SA
K ===~
t A73
4 SUD OUEST NORD EST
P D8 lp Passe
c AR943 2¢c Passe 4c Passe
K ARVE®6 Passe
t 95
5 SUD OUEST NORD EST
P V10 Ip Passe
c RD1064 2c Passe 4K Passe
K A52 7c
t A53
6 SUD OUEST NORD EST
P ADI065 1p Passe 2c Passe
c AR72 3T Passe 3SA Passe
K 5 4K : trop fort pour 4c
t RV4
7 SUD OUEST NORD EST
P A2 lp Passe
c R10964 2¢ Passe 2SA Passe
K RV2 3SA Passe 47 Passe
t V54 4k Passe 4c Passe

4p :ila 18/19 points et 3 Coeurs

8 SUD OUEST NORD EST
P RD742 lp Passe 2c Passe
c A104 3c Passe 3p Passe
K V5 47 Passe 4SA Passe
t RD6 5p : le fit est a Pique




